Linear relation CIELAB ( L*, a*, b*) and adapted (a)CIELAB ( C*gp 5 L*)
System: JE09_LECD display 0% GO v —(|* —L*\ )/ (L*yy -L*y )
Hue: h*yooL =96/360;h*\0o\=305/360
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Linear relation CIELAB ( L*, a*, b*) and adapted (a)CIELAB ( C*gp 5 L*)
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Linear relation CIELAB ( L*, a*, b*) and adapted (a)CIELAB ( C*gp 5 L*)
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Linear relation CIELAB ( L*, a*, b*) and adapted (a)CIELAB ( C*gp 5 L*)
System: JEO9_LECD display 2,5%_GO |« b =(L¥ =¥ )/ (L -L*
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Linear relation CIELAB ( L*, a*, b*) and adapted (a)CIELAB ( C*gp 5 L*)
System: JE09_LECD display 5% GO v =% —L*\ )/ (L*yy -L*y)
Hue: h*yooL =96/360;h*\0o\=305/360
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Linear relation CIELAB ( L*, a*, b*) and adapted (a)CIELAB ( C*gp 5 L*)
System: JEO9_LECD display 10%_GO0 |« b =(L* =L )/ P w-L* )
Hue: h*yooL =96/360;h*\0o\=305/360
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Linear relation CIELAB ( L*, a*, b*) and adapted (a)CIELAB ( C*gp 5 L*)
System: JEO9_LECD display 20%_GO0 |« b =(L* =L )/ P w-L* )
Hue: h*yooL =96/360;h*\0o\=305/360

argmar —aty ~ Fiaps [@'w —aty]

b*a=b* = b*y = i [b*w —b*y ]
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Linear relation CIELAB ( L*, a*, b*) and adapted (a)CIELAB ( C*gp 5 L*)
System: JEO9_LECD display 40%_GO |« b =(L* =L )/ P w-L* )
Hue: h*yooL =96/360;h*\0o\=305/360
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b*a=b* —b*N = japr [b*w ~b*\ ]
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